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Section A (28 x 2 marks = 56 marks)
For each question from 1 to 28, four options are given. One of them is the correct
answer. Make your choice {1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or 4) on
the Optical Answer Sheet provided.

1. Which of the foliowing statements about bacteria and fungi is/are false?

A They can make food on their own.

B They can breakdown dead materials into simpler substances.

C They are tiny micro-organisms that can only be seen clearly under a
microscope.

D Some are useful fo humans as they can be used to make cheese and bread.

{1) Aonly

{2) AandConly
(3) BandDonly
(4) B,CandDonly

2. The diagram below shows the processes involved in plant reproduction.

process A e process B

Which of the following correctly identifies processes A and B?

Process A Process B
N fertilisation seed dispersal
{2) fertilisation seed germination
(3) seed germination pollination
(4) pollination fertilisation




3. Study the diagrams below.

plant reproductive parts human reproductive parts

Which of these statement(s) is/are correct?

A Fertilisation happens at part 8.
B Parts P and T produce male reproductive cells.
C Afertilised egg cell will develop in parts Qand R.

(1) Bonly

(2) AandBonly
{3) AandConly
{4) Band Conly

4. Lynette set up an experiment in a dark room using similar water plants as shown
below. After the lamp was switched on, she recorded the number of bubbles given
out by the water plants in beakers A, B and C, for five minutes.
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beaker A beaker B beaker C
(680 em (20 em (5cm
from lamp) from lamp) from lamp)

Which of the following best represents the expected results of the experiment?

Number of bubbles per minute
Beaker A Beaker B Beaker C
{H 100 850 0
(2) 0 80 50
(3) 5 70 80
{4) 70 60 100




5. Organism R lives in the coastal region. It produces a glue-like substance to atlach

itself to rocks so that it does not get washed off easily by strong waves.

Heidi conducted an experiment to find out how the temperature of water affects
the effectiveness of the glue-like substance that helps organism R attach to the rocks.
The graph below shows her results.

Number of organism R
attached to the rocks
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The table below shows the temperature range of four different coastal regions

A B CandD.

L.ocation

A

B

C

D

range

Temperature |

21°Cto26°C

10°C 10 20°C

28°C to 35°C

1°Ct09°C

Which of the locations A, B, C or D has a temperature that is most suitable for rearing

organism R?

(1 A
(2) B
(3 C
(4) D




6. The food web below shows the food relationships between organisms P, Q and R.
R o P

N

After some time, organism 8 moved into the habitat and fed on organisms

P and Q as shown below.
R e P \
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The graph below shows the number of organisms Q over a period of time.

At which point on the graph below did organism S move into the habitat?

£

2) (3)

V.»W&\
Number of
organism Q /\
4

e g i iris ™

(1)

# Time




7. The diagram below shows a food web.

\ /c\ E—>L

R
Based on the food web above, which of the following is correct?

~ Prey Both a prey and a predator Predator
M. ADG C.EF H L
2) L. B,C, H A D, L
(3) A HL D B
4) B C,EF L

8. The diagram below shows a plant with an adaptation labelled P.

Which one of the following statements about the adaptation above is correct?

{1} Part P helps the plant to make food.

(2} Part P helps the plant to attract pollinators.

(3) Part P helps the plant to reach for more sunlight.

(4) Part P helps the plant to transport food and water to all parts of the plant.



9. Study the diagram below. Organism A resembles organism B which is aggressive
and hunts in groups. Predators stay away from organism A as they may mistake
them of organisms B. Organism A smells and behaves like organism B. Organism A
feeds on the young of organism B.

organism A organism B
Which of the following statements is true for organisms A and B?

Both organisms A and B hunt for the same type of food.

Organism B can benefit from this relationship with organism A,

Organism A resembles organism B for protection from predators.

Behaving like organism B allows organism A to get food from organism B
~ undetected.

UCw>»

(1) AandBonly
(2) CandDonly
(3) A ,CandDonly
{4) All of the above

10.  Which of the following is not an impact of deforestation by cutting trees?

A Acid rain

B Soil erosion

C Loss of habitat

D Smoke and haze

E Increased levels of carbon dioxide

(1) AandDonly
(2) BandConly
(3) A,DandEonly
4) B,CandEonly



11.

from the farms flow into the river.

The diagram below shows animal farms located next to a river. Animal waste

N
b N it

ot
» 2. o direction of

flow of water

After some time, the plants living deep in the river after Point H died.
Which graph best represents the effect of animal waste entering the river at H?

(1)
Number of
floating plants

(2)

Amount of
carbon
dioxide

(3)
Number of

fish in the water
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12.  Study the chart below.

Materials

Is it flexible?

Is it waterproof?

S

Which of the materials P, Q, R or S is the most suitable to make parts A and B of
the bicycle shown below?

Part A PartB
)] S Q
(2) R P
{(3) Q R
(4) P )




13. Study the classification table below.

objects
l |
I |
X Y
styrofoam copper plate
ping pong ball glass window pane
Z
Which of the following is possible?
X Y Z .
(1) { allow light to pass through { _do not allow light to pass through cloth|
(2) electrical insulators electrical conductors iron rod
(3) break easily do not break easily wooden plank
(4) float on water sink in water iron key

14. Jane conducted an experiment using three magnets hung from a wooden pole.

IR R IR R el IREERSEA SRR k i
sting  wooden
pole
P QiR 8 T U

She made some predictions when some of the poles of the magnets were brought
close together. She recorded her predictions in the table below.

Prediction Poles brought close together Result
A ; Pand S , attraction
B ; Pand T ) repulsion
C Qand S repulsion
D o Rand U , attraction

Which of her prediction(s) isfare most likely correct?

{1} Aonly

(2) AandConly
{3) BandD only
(4) B,CandDonly

10



15. At the start of an experiment, the mass of a sealed plastic bag of air was measured
using an electronic balance as shown befow. The bag was then placed
in the freezer for six hours, after which, it was taken out and its mass

was measured again,

16.

slectronic—
balance

mseafed plastic

bag of air

I

"

40g

after six

e —
3

40 g

3

hours

Based on the above experiment, which of the following is correct?

(1
(2)
(3)
(4)

Observations after six hours
Mass of air | Volume of air Explanation
in the bag in the ba _ ,
increase constant Some air in the bag escaped into the freezer,
_decrease constant Some air in the freezer entered the bag.
constant increase Alr in the bag expanded. -
constant decrease | Air in the bag contracted.

The dlagram below shows a sealed container holding 400 cm® of honey and
600 cm® of air. 200 cm® of honey was then removed and 100 ¢m® of air
was pumped into the container.

pump fii——

sealed
container 4=

| 600 cm® of air
|~ 400 cm? of honey

e

What is the final volume of air in the container?

(1) 200cm®
{2) 600 cm’®
(3) 700 cm®
(4) 800cm®

11




17.

The diagram shows a beaker containing equal amounts of two substances E and F.

——t~E

\\

The same beaker was then placed on a wooden ramp and the following results
were observed.

/woodeﬁ
ramp

Based on the above results, which of these statements are correct?

A Both E and F occupy space.

B Both E and F have no definite volume,

C E has no definite shape but F has a definite shape.
D E can be compressed but F cannot be compressed.

(1) Aand Conly
(2) BandDonly
{3) A, CandD only
(4) B,CandDonly

in the diagram below, Henry is able to see the cat when the ceiling light remains
switched on.

)_:& ceiling light
FERY

Henry

1; cat

Which of the following correctly shows the path of light that enables Henry
to see the cat clearly?

(1) celling light > Henry's eyes - cat
(2) ceiling light > cat -> Henry's eyes
(3) Henry's eyes - ceiling light - cat
{4) Henry's eyes > cat -> ceiling light

12



19.  Ali collected wooden objects E, F and G for an experiment. The dimensions
and shapes of the abjacts from the front-view are shown below. -

-

5¢cm

8, b

Bem ! ” Scm !

The objects were placed in a straight line at positions A, B and C.
Y

{ sCresn
lit torch

B w0 . .
e o o B N - . o T
o o
for . aoc S W .-
B R P PPN ——
R R R

x>
or]
o

The following shadow was seen on the scroen.

Which of the following shows the correct position of the objects that will result
in the shadow shown above?

Position A Position B _ . Position G
(1) E F G
(2) & G F
(3) G E F
(4) G . F E

13



20. Lily conducted an experiment using the set-ups below. Equal amounts of boiled
water were poured into the container. The containers were then placed into
the freezer. Both containers had the same temperature at the start of

the experiment.
temperature
=) probe y =
datalogger 3 200 mi

oo Y o e

N of water
material B

material A~ R

container A

Lily recorded the changes in temperature of the water in both containers as
they reach 0 °C in the graph below.

L3

100+

Temperature
of water (°C) B

0 Time (h)

Lily wanted to bring along some warm snacks and cold drinks for a picnic.
She wanted to ensure the snacks remain warm and drinks remain cold for
the longest duration possible. Which material A or B should be used for making
the containers for her snacks and drinks?

Material for holding warm snacks | Material for holding cold drinks

(1 A A
(2) A B
(3) B A
(4) B B

14



21.

22.

The diagram below shows two flasks connected by a glass tube containing
a drop of ink.

warm towel cold towel

glass tube

drop of ink

flask X

Which of the following shows the correct observation after 5 minutes?

Movement of drop of ink Direction of heat transfer
(1) towards flask Y from air In flask Y to cold towsl
2) towards flask Y from alr in flask X to warm fows|
(3) towards flask X from wam towel 1o air in flask X
(4) towards flask X from cold towel to air in flask Y

The table below shows the states of four different substances P, Q, R and S
at different temperatures.

State of matter of the substance
Substance At25C AL 60 °C AL100°C
P solid solid solid
Q liquid liquid gas
R solid liquid liquid
S liguid gas gas

Which substance has the highest boiling point?

(1) P
?) Q
(3) R
4y s

15




23. The diagrams below show four containers made of the same material.
“ Different volumes of tap water at 50 °C were then poured into each container
at the same time. The containers were later placed in the Science lab.

500 ml of 1000 ml of 500 ml of tap water | 1000 mi of tap water
tap water tap water
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Based on the above set-ups, which of the following statements is false?
(1) Water in set-ups A and B have the same rate of evaporation.
(2) Waterin set-ups C and D have the same rate of evaporation.

(3) Water in set-up B has a lower rate of evaporation than water in set-up D.
(4) Water in set-up A has a greater rate of evaporation than water in set-up C.

24. Each of the circuits below contains a steel rod, a rubber rod and a copper rod.

1l ' A

| S—

circuit A circuit B circuit C
in which of the above circuit(s} will it be possible for the bulb to light up?
(1) Aonly
(2) Bonly

(3) Aand Conly
(4) AandBonly

16




25. The diagram below shows a toy. When the roller is tumned, the rubber band

28,

attached o it becomes twisted. When Ronald released the toy, it moved along the
table.

“~wooden stick
rubber band

Ronald conducted an experiment using the toy and his results are shown
in the table below.

Number of turns of the roller Distance moved by the toy (cm)
3 10
6 19
g 28
12 39

Based on the results of his experiment, what can Ronald conclude?

{1) The greater the number of turns, the greater the distance moved by the toy.

(2) Chemical potential energy was converted to elastic potential energy of the foy.

(3) When the number of turns of the roller decreased, the distance moved increased.

(4) Elastic potential energy of the roller was converted to kinetic energy of the toy
to cause it to move,

The diagram below shows a structure which can be built at sea fo generate electricity.

4 floating, A\ waves

movement of buoy \/ I\ A

the buoy and s L0
the pump

=%~ pump connected to a generator

=

=~ fixed base on the seabed
seabed

‘l

As the buoy moves up and down with the waves, the pump connected to it moves
as well. The movement of the pump causes the generator to rotate
and generate electricity.

Based on the information given, which of the following are correct?

A Wave energy is a non-renewable source of energy.

B The amount of energy generated is not constant all the time.

C Kinetic energy of the waves is converted to electrical energy of the bump.
G This method of generating electricity does not release any harmful gases.

(1) Aand Conly
{2) BandDonly
{3} A,BandDonly
(4) B,Cand D only

17



27. Which of the following statements about mass and weight is true?

(1) Weight is the amount of matter in an object.

(2) Mass is the amount of force acting on an object.
(3) Mass can be measured using a weighing balance.
(4) Weight of an object remains unchanged on Earth and on the Moon.

28,

Martha conducted an experiment using a 3 cm spring. She hung a 10 g mass

on it and measured the length of the spring. She repeated her experiment with
masses of 20 g, 30 g and 40 g and recorded her results in the table shown

below.
Mass of load hung () 10 20 30 40
Length of spring (cm) 5 7 9 11

She then plotted hex resuits on a graph.

Which one of the following graphs best represents Martha's iesuiis?
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Section B (44 marks)
For questions 29 to 41, write your answers in this bookiet. The number of marks available
is shown in the brackets at the end of each question or part question.

28. Mary conducted an experiment in a garden using the set-ups below.

paper flower
petals

naper dis

set-up B

She then released some bees to both set-ups. ARer a few minutes, she recorded
the number of bees that had landed on each paper d \ C.

(a) Her teacher said that the experiment was unfair. Explain why. M

(b) Suggest a change she can make to one of the set-up(s) above
to ensure a fair experiment. [1]

Mary found two flowers R and S in the garden as shown below.

stigma, stigma +  qull-coloured

Qg anther
: petal

-,

i::rightiy~cobured -

petal
flower R flower S
{c) Which flower, R or 8, is most likely to be pollinated by wind?
Explain your answer. 74




30. Piants use light energy to make food.
{a) Sfatethe part of a plant cell that allows it to make food. 1]

Ken set up an experiment as shown below. He wanted to find out if carbon dioxide
is needed for photosynthesis. He first placed the set-up in a dark room for a day
before putting it under bright sunlight for 6 hours. He then tested a leaf of the plant

for starch.
sealed glass
container
substance
to absorb \
carbon ' ,
dioxide plant A
(b) Glve areason why Ken first placed the set-up in a dark room. [1]
{c) Suggest a control set-up that Ken can use for his experiment. {1]

(d) Other than the amount of light and carbon dloxide, state one other factor
that would affect the rate of photosynthesis in plant A. [11




31.

Jia Ling observed that plants Q and R can be found in the same pond.
plantQ

She wanted to find out if an increase in the population of plant Q would affect
the population of Plant R. She set up an experiment as shown below.
The set-ups were left under bright light for a week.

T plant Q

- glass container with
500 cm® of pond water

plantR

{a) Suggest a possible hypothesis for her experiment. {1

{b) Her mother said that her experimental set-ups do not allow her
to investigate her aim. Suggest one change Jia Ling can make to her
experimental set-ups to allow her to investigate her aim. 1

{c) Other than repeating her experiment a few more times, what can Jia Ling
do fo increase the reliability of her results? (1




32.

Study the food chain shown below,

4
m
v
H

C » D -

(a) What does a food chain show? {1]

The bar graph below shows the amount of energy that each organism D, E and F,
received in the food chain above.

-3

Amount of
energy
received
(units)
i o B+ pe of organism
D E F y
(b) Based on the graph above, give a reason why the amount of energy
received by each organism decreases. (1]




33. The diagram below shows organisms A and B. The two organisms depend on each
other for survival.

antennae of organism A
touching organism B

organism B . A .
urrow made
by organism A
seabelm . ... .- S e
M‘”' T et 7 T organism A

The table below shows some characteristics of organism A,

Characteristics of organism A
has poor vision :
has strong claws, with one slightly bigger than the other
can dig and maintain a burrow for hiding from predators
can shoot out fast and loud bubbles from its claws to stun or kill prey

¢ & & 8

(a) Based on the information given above, state a behavioural adaptation that
allows organism A 1o survive in its environment. 1]

The table below shows the characteristics of organism B.

‘ Characteristics of organism B
has very good vision
uses the burrow for mating
usually found guarding the burrow
hides in burrow when it senses danger
can filter out sand from the food it eats using its gills

2 & 9 & 9

(b) Based on the information given above, state a structural adaptation that
allows organism B to survive in its environment. 1




(c) State one way in which organism B could benefit from its relationship with
organism A. [1]

{d) Organism A usually ensures that its antennae are fouching the tail of
organism B so that it can track when organism B hides inside the burrow.
Explain how this might benefit organism A. {2}




34, The diagram below shows a new factory located next to a forest.

forest J factory

thick smoke with
black dust particles

(a) The bark of the trees in the forest was light in colour. After several years,
they became darker in colour. Based on the diagram above, suggest
a reason for this observation. [1]

Moths X and Y shown below frequently rests on the trunks of trees in the Torest.

- : . moth Y

e fight-coloured
bark of trees

The graph below shows how the population of moths X and Y has changed over a
few years. Point F indicates the time when the factory starled its operations.

A

. i
s irismthnssmsssgmnns
£
H \\

Bize of
population
(units)

e B e e e 2

»Time (yoar)

{b) In the boxes provided above, write ‘Moth X' or ‘Moth Y’ to label the
graphs to show how the population of each type of moth has changed
over the years. 1




(c) Explain your answer for moth Y in part (b). [1]

35. Rashid conducted an experiment in a dark room using the set-up below. When no
material was placed at position X, the light sensor detected a reading of 150 units.

Material E was then placed at position X-and the reading was taken.

it torch

material E light sensor connected
to datalogger

J

X
He later repeated the experiment using materials F and G and recorded his results
in the table below.
Material | Amount of light detected (units)
E 100
F 5
G 46

(a) Based on the results, arrange materials E, F and G according to their

transparency.

[

allows least amount of
__light to pass through

. allows most amount of
light to pass through

(b) Medicine P spoils easily when exposed to bright light.
5

bottle containing medicine P

Which material E, F or G should be used to make part K of the botile
above? Explain your answer. [2]




36. The diagram below shows how a barrier is used at carparks.
metal rod X

battery pack
containing [RS8 coils of
=3 ywire

10 batteries ‘§ barvier {(metal rod Y)

magnet-"| . ~~ ~
longer part
fixed point P~ of barrier
(a) Name a metal that is suitable for making metal rod X. [11

When the switch was closed, it was observed that the barrier rotates about point P
causing its longer part to move upwards to allow cars to pass through.

“

{b) State a property of magnets that_ allows the above observation to happen.  [1]

(c) Other than changing the number of balteries in the battery pack,
suggest one other way to make the barrier move up faster when the
switch is closed. [1]

10




37. Dan poured an equal volume of cold water into two glasses X and Y. Glass X only

has a single-layered glass while glass Y has a double-layered glass with a layer of
air trapped as shown below.

thermometer

B3TSL8 3408 0A08L8TES

wooden \g
cover

el
\dsubieﬁsayered

glass

single-layered

glass - of water

St

(@} In which glass, X or Y, will the temperature of water be lower after
45 minutes? Explain your answer. [2]

(h) State one variable that must be kept constant for the experiment to be fair.  [1]

Dan wanted 1o buy a winter jacket.

thin-

:} thick fabric

fabric (
4 layer of cotton
jacket J jacket K
{c) Which jacket, J or K, should he choose if he wants to keep himself warm
for a longer period of time? Explain your answer. 1

11




38. Raju placed some crushed ice on a metal tray. He then left the tray out in the open.
After a few seconds, he noticed some white mist appeared above the crushed ice.

white mist
metal 8 8 8 87’
contalner 8 /- .

crushed ice

(a) Explain how the white mist was formed. [2)

\

\

i

Raju conducted an experiment using the set-ups below. He placed equal amounts
of crushed ice in both funnels. He then added different  amounts of salt K
to the crushed ice in both set-ups.

equal
amount of
crushed ice

measuring

T cylinder

ot i

) o
set-up X setup Y

The crushed ice in both set-ups started to melt. He recorded the amount of water
collected in each cylinder for a duration of 10 minutes. The resuits are shown

in the graph below.
Fy set-up Y
P
Volume of waler )
collected {ml} set-up X |
> Time (min
0 v (min)
(b) State a possible aim for his experiment. 1]

12




{c) Based on the graph, what is the relationship between the amount of
salt K added to the crushed ice and the volume of water collected? 1]

Raju conducted another experiment using another set of similar set-ups.
He used squal amounts of crushed ice for both set-ups.

equal
amount of (S
40g of crushed ice
salt K

measuring

cylinder ™|
e
set-up Y set-up 2
(d) Based on the above set-ups, state the changed variable for this
experiment, 1

13




39, Diagram 1 shows the front-view of Ken’s toy police car. He sets up an electric
clreuit in the toy using bulbs P and Q, a siren S and some batteries as shown
in diagram 2. All the circuit components are in good working condition.

siren 8 bulb P

bulb P bulb Q Mfib Q
1%
Lad i
\siren 8
switch '
p - battery
\, O O_.J T
diagram 1 diagram2 O
(a) Based on diagram 2, will the bulbs and siren work when the switch is
closed? Explain your answer. 1

{b) State the type of arrangement of the bulbs in the electric circuit in
diagram 2.

ot
-4
Fa—

Ken's mother suggested that he connect the bulbs in a different arrangement
to make both bulbs brighter when the switch is closed.

(c) In diagram below, complete the electric circuit to show how his mother's
suggestion can be done. 1]

In

Z
%

14




40. The diagram below shows a water feature in playground A.

metal pipe to/ﬂ -
pump water
7 ,,,.—container of water
allowed to rotate

about a pole
5m

ground

playground A

The contalner is slightly tilted forward and aliowed to rotate about a pole attached
to it. A metal pipe fills the container with water. When the water is filled to the brim,
it tips forward and empties the water onto the ground below.

(a} State the main energy conversion that has occurred in the water when
the container tips forward. [1]

energy of water energy of water

The diagram below shows a similar water feature in playground B. Katy noted that
the container in playground B was smaller than that in playground A and contained

tegser amount of water.
e
metal pipe to%
pump water w:)
¥ WQ “lesed | container of water
-~ allowed to rotate
5m about a pole
ground

playground B

(B) Which container of water, the one in playground A or the one in
playground B, would result in the water falling at a greater speed?
Explain your answer. [1]

15




41. (a) Whatis aforce? (1

The diagram below shows a parachutist with his parachute floating down
to the ground after he has jumped off a plane. The parachute helps him fall

to the ground slowly.

parachute , .

parachutist

The graph shows the change in his speed of falling from the time he jumped off
the plane until he safely landed on the ground.

-
L
Speed of
parachutist
falling through K
the air
(mimin) M
0 » Time taken (min)
{b) At which point on the graph K, L or M, did the parachutist opsn
his parachute? Explain your answer. [2]
END OF PAPER
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paE ? tals and presence of drops of honey.

drops of honey to the paper disk in B, add 5 similar

1 Q2 Q5 Q6 Q7 Q8 Q9 Q10
2 13 4 3 2 1
11 Q15 | Q16 | Q17 | Q18 | Q19 | Q20
4 4 1 2 3 4
Q25 | Q26 | Q27 | Q28
1 2 3 1
a re than one changed variable that are the presence

Pgl




d) Amount of water available for plant A / temperature of
surrounding

air.

Q31)

a) When the population of plant Q increases, the population of plant
R

decreases.
b) Change all the containers to opaque containers.

c) Increase the number of plants Q used for the experiment.

Q32)

a) A food chain shows food relationship between organisms.
b) Some of the energy is being used by the organisms for life

processes.

Q33)

a) A can dig and maintain a burrow from hiding from predators.

b) B has very good vision.

c) B has a place to use for mating.

d) Using its antennae to touch B’s tail, A can know when there is
danger as B would hide in the burrow when B senses danger this

can help A, who has poor vision, to stay safe from predators.

Q34)

a) The bark of the tree became darker as they were covered by the |
black dust particles found in the smoke given by the factory.

b) Moth Y
Moth X

c) As the bark of the tree became darker over the years, the darker

moth Y would blend in.

Q35)

a)

F G E

b) F as F allows the least amount of light to pass through so that

medicine P will not spoil easily.

Q36)

a) Nickel
b) Like poles of magnets repel each other when they face each other
directly.

c) Increase the number of coils of wine around metal Rod X.
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Q37) |a)Y as airinglass Y is a poor conductor. The cooler water in Y
k‘ gains

heat slower from the warmer surrounding air as compared to the
water in X.

b) Temperature of water in both glasses at the start.

c¢) K as K contains a thick layer of cotton which traps air which is a
poor heat conductor. Thus his body will lose heat slower to the
cooler surrounding air.

Q38) | a) Warmer Water vapour in the surrounding air (correct source)
touchers the cooler air above the crushed ice, loses heat and
condenses to form tiny water droplets known as mist. ;

b) To find out it the mass / amount of salt K added to the crushed ice
affects the volume of water collected.

c) The greater the amount of salt K added to the crushed ice, the
greater the volume of water collected.

d) Type of salt added to the crushed ice.

Q39) | a) Yes. When the switch is closed, the circuit becomes closed and
electricity can flow through the circuit to light up both bulbs and
siren.

b) series
c)
|
W
R —
Q40) | a) gravitational potential — kinetic

b) A, although both containers are at the same height of 5m above
the

ground, container A has a greater mass of water. More
gravitational

potential energy of water in A is converted into more kinetic
energy

of water in A resulting in water in A falling at a greater speed.
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Qa1)

a) A force is a push or a pull.
b) L, as point L, his falling speed started to decrease as when he

opened the parachute, there was greater air resistance.
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